H & 0l & AHS B Ml A

N 223
o NHSESE (/s P25
el OrsSAE BS (SH &)
- ZE - H2A(3H) - HNIRAY - Ofl kel | & A Hlns
37,386,862 36,470,650 916,212
=2 4,492,500 4,262,500 230,000
z2 693,600 693,600 0
bl 227,259 227,259 0
= 25,000 0 25,000
(= 4,463,032 4,361,332 101,700
Al 27,093, 144 26,441,265 651,879
= 39,327 484,694 A9R,367
BN (B /RSS! 1,484,919 1,584,259 A99,340
= 90,000 90,000 0
[ 404,890 404,890 0
Al 597,702 604,675 16,973
= 392,327 484,694 A9R,367
OIMSAE 85 756,751 856,001 ~99,340
=2 90,000 90,000 0
(= 54,890 54,890 0
Al 219,534 226,507 16,973
= 39,327 484,694 A9R,367
OIMSAIE 22| 91,457 98,430 16,973
201 LetE o) 22,457 29,430 16,973
01 Al22t2|H] 11,477 18,450 16,973
OO SAIZS HMel(ASF, JtAlEE S) &Hl Xt
(o= 3H 9,227,000 9,227 16,200 16,973
(Z)OMNSAEES 98,500 190,867 A9R2,367
(= 21,890 21,890 0
Al 51,077 51,077 0
= 25,533 117,900 AR, 367
301 L2 24,300 116,667 AR, 367
(= 5,000 5,000 0
Al 11,667 11,667 0
= 7,633 100,000 A9R,367
14 IIEtE A= 24,300 116,667 A9R,367
ORMHOMSSILETAZ(HS M A2
dY 24,300,000 24,300 116,667 A9R,367
(= 5,000 5,000 0
Al 11,667 11,667 0
= 7,633 100,000 A9R,367
o1zl (2H&/001) 8,586,770 8,125,675 461,095
= 3,541,300 3,311,300 230,000
z2 693,600 693,600 0
bl 188,259 188,259 0
(= 1,297,792 1,196,092 101,700
Al 2,865,819 2,736,424 129,39




A S#EESH
I o|egael(2=>2/0U01)
Rl o EEXE EER=E)
SA - FE - SRA(3H) - MRAE - BES Off &4 & A Hws2
ol dxd 8,564,226 8,093, 131 471,095
= 3,541,300 3,311,300 230,000
z 693,600 693,600 0
7 188,259 188,259 0
[ 1,297,792 1,196,092 101,700
Al 2,843,275 2,703,880 139,39%
doleg=zztel 263,571 276,476 A 12,905
201 er23 | 202,497 212,326 19,829
02 S2=24l 148,227 158,056 19,829
O NsE3Y AEEHl | 90,441 98,930 8,489
—AEZHIKX 2el (ZEH A2
34 38,511,000 38,511 47,000 18,489
O2#HIE SSAIA(IMEt) 2ER3 21,860 23,200 21,340
—SANESZA(YRHIH A1)
Z& 6,600,000& 6,660 8,000 A1,340
206 Mz bl 9,000 9,700 AT700
01 Mz Hl 9,000 9,700 AT700
OTSH T (DeHra At
3 7,000,000 7,000 7,700 AT700
207 AR 52,074 54,200 N2,126
01 2 EAH| 52,074 54,200 02,126
Ostated otdae] Alg 2N 17,874 20,000 22,126
—3ISt8d otdze| Ad BN SA(Y
ST AL2L) Z& 16,974,000 16,974 19,000 22,026
—StEt2E ordate] Ad B A
SR (TN A2
23 900,000& 900 1,000 2100
301 LEIEES 250 A250
14 JIEt2 4= 250 A250
OEd D TAF(ESW At2)
33 o0& 0 250 A250
()5S LI HI XK E AL 825,600 1,056,000 2230,400
= 412,800 528,000 A115,200
< 123,840 158,400 A34,560
Al 288,960 369,600 280,640
301 LEIEE S 825,600 1,056,000 /230,400
= 412,800 528,000 A 115,200
< 123,840 158,400 A34,560
Al 288,960 369,600 A80,640
14 JIE2 43 825,600 1,056,000 A230,400
O58 82 ERARIIHX KA
Z& 1,600,000 *516CH 825,600 1,056,000 £230,400
= 412,800 528,000 A 115,200
< 123,840 158,400 34,560
Al 288,960 369,600 180,640




A 2EES

I o|egael(2=>2/0U01)

Rl o EEXE EER=E)
SA - B SRA(B) - HRARY - BAS 0l &y ol B o tmE==]
(4SS =FE I HI XX A 991,600 814,000 177,600

= 495,800 407,000 83,800
& 148,740 123,200 25,540
Al 347,060 283,800 63,260
301 LEEN S 991,600 814,000 177,600
= 495,800 407,000 88,800
< 148,740 123,200 25,540
Al 347,060 283,800 63,260
14 JIEI2 4= 991,600 814,000 177,600
O4S 2 FERARIHIX KA
Z & 3,700,000 «268CH 991,600 814,000 177,600
= 495,800 407,000 88,800
< 148,740 123,200 25,540
Al 347,060 283,800 63,260
()M ZE X (0PF) = 184,800 132,000 52,800
= 92,400 66,000 26,400
< 27,720 20,000 7,720
Al 64,680 46,000 18,680
402 RIZEAHZ01H 184,800 132,000 52,800
= 92,400 66,000 26,400
< 27,720 20,000 7,720
Al 64,680 46,000 18,680
02 RIEN2AISEZ (01 M THR) 184,800 132,000 52,800
OMZEXI(0PF) 2=
Z& 3,300,000 «56CH 184,800 132,000 52,800
= 92,400 66,000 26,400
< 27,720 20,000 7,720
Al 64,680 46,000 18,680
(2)HINIXS A ROHKIH 3,962,000 3,478,000 484,000
= 2,240,000 2,010,000 230,000
< 693,000 590,000 103,000
Al 1,029,000 878,000 151,000
402 QIZERHZ01H 3,962,000 3,478,000 484,000
= 2,240,000 2,010,000 230,000
[ 693,000 590,000 103,000
1,029,000 878,000 151,000
02 QI 2AIEE X (01 & THR) 3,962,000 3,478,000 484,000
OIS AE 701 X
33 3,962,000,000& 3,962,000 3,478,000 484,000
2,240,000 2,010,000 230,000
693,000 590,000 103,000
1,029,000 878,000 151,000
SHMNERE =S 22,544 32,544 210,000
JMERES B 22,544 32,544 10,000




SN BA2SD
M o|eg2(=A/UII)
Rl SENERES (SH9 H2)
M- - SA(3) - MRAY - BES Ol &koy N3 A Hwsz2
201 Ler2y] 22,544 32,544 A10,000
® 3249l 21,464 31,464 A10,000
OLXA oI & 2Esg 22 20,000 30,000 A10,000
—SE2 (BT AY)
AE 50024%10,00024 %23 10,000 20,000 A10,000
OIS (A /HIIZ) 13,892,604 15,312,170 A1,419,566
7l 39,000 39,000 0
[ 70,260 70,260 0
Al 13,783,344 15,202,910 1,419,566
HOISIIEAIE 242 71,138 72,147 A1,009
ELAIFRY 70,058 71,067 A1,009
401 A& HI L2 17,991 19,000 A1,009
01 Al&HI 17,991 19,000 A1,009
O3 MZEEH Hel& F=8 A
TISHZIOH Ab2t) AE 17,990,990 17,991 19,000 A1,009
Mol ™el 13,595,769 14,995,046 A1,39,277
Il 39,000 39,000 0
[ 70,260 70,260 0
Al 13,486,509 14,885,786 A1,39,277
eSS XA 543,101 761,560 A218,459
308 XIXISHRISOIA 316,541 531,000 A214,459
IZAPJIS L= = 316,541 531,000 A214,459
OBDISHELYS(ZHUTA A2
3E 316,540,530 316,541 531,000 A214,459
401 A& HI 2L RO 9,000 100,000 24,000
01 Al&HI 9,000 100,000 24,000
OSHHEY 3l47| HXIA (HBRH A
) AE 36,000,0002 36,000 40,000 4,000
M| SHED S 338,964 344,301 15,337
405 KHAaHE SH| 38,663 44,000 15,337
01 T SZF SH 38,663 44,000 15,337
OMYIISYED| =52 0l=4 et +
(o arE) AE 38,662,9402 38,663 44,000 15,337
MYDIREK 2 (ME L SA2) 11,418,044 12,555,498 A1,137,454
206 THZHI 7,715 8,250 535
01 M2 7,715 8,250 N535
SRR L MRI(D T AL
A 7,715,000 7,715 8,250 NA535
207 1IN eL] 55,900 61,000 25,100
01 ¢1REAY| 55,900 61,000 25,100
OMEHI|IS A28 RIZHHY L S
S DOHCHEY ROIEAN S (EHEY A)
23 14,600,000 14,600 16,000 A1,400
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AN BEESH
M HDISZ(EH/HDI2)
s M0 Xel EER=E)
M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlwsz2
401 AIEBIZ20HbI 36,192 50,000 A13,808
01 Al&HI 36,192 50,000 A 13,808
OgsHDI2 SSTGHE HEALS (T &l
A) 38 36,191,930& 36,192 50,000 A13,808
stz 22| 225,697 244 977 A 19,280
sZae| e 225,697 244 977 A19,280
201 B2 AY| 180,207 198,007 A17,800
01 A=R2teld| 160,207 178,007 A17,800
Ot ze|AMNRA BIIE 80 55 S3(
Ol AR ) 4% 1,080,000 *23| 2,160 2,400 A240
OG2ACIAMNPE 4224 22 2 (0fla
&z 28 4,5002+3B6H 12 1,890 2,100 A210
OB 2L ARA HHAIAH SIHALEE(
Ol & A2 dH 158,400 *10H*12& 1,901 2,112 A211
Ostd2e|d Z2e2e] sIdAIZS (oAt 2
) 38 72,0003 *10=12& 864 960 JANS 3}
Ot 2| AAIR24 didl gl (olaE2)
J3 18,000 x2CH+12& 432 480 A48
OstZ 2|2 AR F4I| S| (ol AR
) EE 45,000 +20H«12& 1,080 1,200 A120
O Ze|AMRA AHoIZ S&l QE(0A
2L) 38 10,8003 =20+ 12& 260 288 NP8
OdggamEIr 29 12 (1221F), delXol
SR ) 333 370 N7
—J|& 33 225,000 x1H* 1A 2+ 225 250 A5
-1 ZE 108,000&*1H*1Al2¢ 108 120 A2
Ozt 2ralgl(oara2t)
4% 90,0003 «36H 12 37,800 42,000 24,200
Ostgze|d 1=yl S(oara2t) 98,140 110,550 A12,410
=== ZE 270,000& *35Z 14 9,450 10,500 A1,050
—ot= B8 135,000& *35Z * 14 4,725 5,250 YANGYzS)
—Zst 2R 135,000 *352 *2H 9,450 10,500 A1,050
-9 A& 45,0002 x35% * 14 1,575 1,750 A175
—X)(otA, D8, %)
J& 36,0002 *35% +304 3,780 4,200 A420
—Eord (SASMYDl =HA)
& 18,0003 100G *1JH+12& 2,160 2,400 A240
— &3 A& 45,0002 x35% * 14 1,575 1,750 AT175
— 252 2 45,0002 35 *1H 1,575 1,750 A175
— 2okt B8 135,000&*36Z 14 4,725 5,250 AB25
—gera2 ZE 45,0003 x35% + 1 1,575 1,750 A175
—OHNE (Ot2EA 3, JI2EL 2 bt
) 38 27,0003 *35ZH 10} 945 1,050 2105
& BE 4503 x3pH 250 12& 4,725 5,250 VANGYzS)
—0tA3 BE 4503 *3B6H 5]l 128 4,725 5,250 2525




2N SEES
M HIISZS(EHE/HIIS)
el sFaed 22| (EEEE))

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o HimEE]

2 90,0002 +36F 1122 37,800 42,000 A4,200
—DJIEH (22, NALKEH, L=/ S)
ZE 18,0002 535 1}« 122 7,560 8,400 AB40
—EH20Y oYz
Z& 1,795,000 1,795 3,500 A1,705
OZB2| AN HELH (NS
) & 1,800,000& 1,800 2,000 A200
301 YRS 3,700 4,000 A300
11 #AIAHIXIZ S 3,700 4,000 A300
OLZERIY 318 HAHSHHIE ) (G AHE)
2 3,700,008 3,700 4,000 A300
307 212+01& 5,373 5,970 ABI7
0122 & 3=l 5,373 5,970 ABI7
OO0 LT (SHHE ) 4,473 4,970 Hag7
—SZ(IUTAH ALY
dd 31,5008 404 1,260 1,400 A140
—RHH BHEI(WHTNY AR

Z& 8,100&*40 12 324 360 A6

2 27, 0002292 783 870 ~87
-HEIR(@ET M)
& 117,000& 18H 2,106 2,340 VAVR'!
b

A& 22,5002 «40H 900 1,000 A100

401 Al HIZL 201 29,417 30,000 A583
01 A<l 29,417 30,000 Ab583
OstA 2| ARY HE SHH(ZETH

A2) 28 7,416,740 7,417 8,000 A\D583

Q- H= 2el(B/MotE - ) 5,449,495 5,412,876 36,619

= 861,200 861,200 0

= 25,000 0 25,000

= 2,690,090 2,690,090 0

Al 1,873,205 1,861,586 11,619

=Z e 5,449,495 5,412,876 36,619

= 861,200 861,200 0

= 25,000 0 25,000

S 2,690,090 2,690,090 0

Al 1,873,205 1,861,586 11,619

=dotL el 158,266 160,347 2,081

401 AlZHIZ S 0HbI 37,919 40,000 2,081

01 AlZHI 37,919 40,000 2,081

SSEA AEES 37,919 40,000 2,081
—NEH S SSSEA Kot (HRE

o0 ArY) a3 37,918,180 37,919 40,000 2,081

SHYSHH 2| 51,749 55,749 24,000




M SFESH
3 2 W= 2el(SF/doteE - )
el =Ea2e EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
201 er23 | 13,664 17,664 24,000
01 At2teltl 5,000 9,000 24,000
OFEHAMD =Sl (o)
& 5,000,000& 5,000 9,000 24,000
SESEY G4 ey (2YUE) 4X 12,500 19,800 27,300
201 ger=3| 12,500 19,800 27,300
01 AtR2t2l] 12,500 19,800 27,300
OSSaEA oy ryH(2ed) ZXi(olat
22) Z& 2,500,000 *50H A 12,500 19,800 27,300
=0ty T8l ST dTAY 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
401 AlEBIYL S CHYI 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
01 Al&HI 50,000 0 50,000
L 3S3EY 022 (224 SR
Al 50,000,000 *14] 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
HY2HZH(BZESH) (DIEHIIE 2,311,251 2,260,827 50,424
el 2| 2,151,514 2,101,090 50,424
el 24| 2,151,514 2,101,090 50,424
101 QI24H| 2,151,514 2,101,090 50,424
03 SRH(RIH )22 U2+ 2,151,514 2,101,090 50,424
Ogrzaed ey (133 JIE) 2,151,514 2,101,090 50,424
—J=2 A 3,417,94020+35%* 128 1,435,535 1,333,324 102,211
—gd2=+
BE 3,417,403 *759%+500%+35 H 23 89,721 87,778 1,943
—SEFHI
SE 3,417,402 75160035 »23] 107,666 105,333 2,333
—A222RH
B 18,9373 #1505 A1 235« 128 59,652 57,942 1,710
—5L22+H
BT 18,9873 *150%+20A1 235« 12
238,607 231,765 6,842
—iRsSFtee
B 18,9373 x8AI 2172 +35H 90,141 87,556 2,585
—HUSAH|(ME)(ESH A1)
33 03 0 67,200 AB7,200
WS (sHE2s) (88/4ot+E - +8) 5,661,823 3,774,843 1,836,980
RSN 1,837,920 940 1,886,980
BEXE 1,837,920 940 1,886,980
802 grat=JIEt 1,837,920 940 1,886,980
01 =Ex3erE=a 1,728,505 0 1,728,505




sy == k=
i LRSS (BBS) (/AT - 2=7)
t: BEX=E (CH9: &S1)
A -3 - A4A(3H) - MRAY - BES 0ff &k2H Jl & o Hln=2
020234 1,555,819 0 1,555,819
—HE=2ESUI0LE & XIAF (Ol XH)
21,690 14l 22 0 2
—0IHISiX SIS oIZ2Al XA (
Zrok gl Q| X}) 1,507,620 1Al 1,508 0 1,508
—J2IAEIEAIN S AL XK (0IXH)
65,4802 1Al 66 0 66
—EIATQOIEH 29
5,141,400 1Al 5,142 0 5,142
—EIATQIER 2H(0IX})
229,010 % 1Al 230 230
—ISXEATQIER2Y
6,680,000 <14l 6,680 6,680
— NS XEHAZOIEN 2K (0IXH)
176, 16024 %14 177 177
—2d0IE HelXIRAY
157,249,500 x 1Al 157,250 157,250
—SHASIISIIA M 2HAF (DI HI Xt 0P
FooAlX wR, K2HAFS)
213,435,750 * 14! 213,436 213,436
—SHASTNSIIA HZHAL (ZI|HIXt,
M2ZHAFL ) (OIKRH) 752,580 1Al 753 753
—=Z=HHIY =HEAZ(0IX)
32,980 % 1Al 33 33
—Z=HoIE &= 303,370 % 1Al 304 304
—M- HOI2™2l Mas
1,126,512,800 x 14! 1,126,513 1,126,513
—Te HII2HM2l M= (01K
1,422 54024 %14l 1,423 1,423
—ot&BIR M0 ALY
1,350, 1804 1Al 1,351 1,351
—GHEGT? MDDl HEAY (OIX})
24,0502 1Al 25 25
— O S 2T 6l 0l 2 AL
18,625,680 * 14! 18,626 18,626
— O S STIoHOlI 2 AF (01 XF)
29,9602 1Al 30 30
—ANEHE L HAHXME AFY
99,3902 * 1Al 100 100
—ANEMH L HAM™2! AP (OIXH)
16014l 1 1
— {21 0| ESH X 2HLPGRIHE & K| 2 AHY
7,000,000 <14l 7,000 7,000
—O{2I0| E 8 X 2HLPGXHA S KA (OIXH)
25,5004 %14 i 26
—IINHEN=ABUYBSAIY
15,060, 000 * 1A 15,060 15,060
—IIEHEH=ABUYBSAIS(0IX})
62,1502 %14l 63 63




2N SEEsh
M MRS (EEE23) (Y /MoteE - +=3)
&t 2= (CH9: &S1)
SA-3Y - SRA(SAH) - MRAY - BES Off &K N3 HnsZ
O20224 15,933 0 15,933
—ODIMBX SYHHE HYZAl XIZAS (
Zod 9l Q| X}) 323,780 14 324 0 324
—J|=HSIHEAE =8
11,480,000 » 14! 11,480 0 11,480
—J|ZBSUSHE > (0IX)
730,090 *14] 731 0 731
—E230 12 EE X ds7A2el
84,0802 *14] 85 0 85
—23IFUE XL s X2 (01A)
1,340 x 14! 2 0 2
—dRA H2EX s=E2Xz & 458
2t/ 3,295,200 *14] 3,2% 0 3,2%
—ZRX MK sl=EBx3 2 45K
22|HI(01X) 14,9003 * 14 15 15
O20214 156,753 156,753
—OIMIgX SIS o2 Al XIRARS (&
o 9 O|RH) 198,900 *14] 199 0 199
— A7 AFE 2XIAIE AXIXI2 AL
155,448,620 *14] 185,449 0 155,449
— A2 AFE SXAIE SXIXS AR (
Ol XH) 1,104,450 *14] 1,105 0 1,105
02 Al - SHIEEZBHEE 159,415 940 158,475
020234 119,6%4 0 119,694
—MHEESUIOIEE XA (0IXH)
6,480 x 14! 7 0 7
—0IMISA SYHE HZ2Al XA
451,350 *14] 452 0 452
—0IMISX SEUHE HZ2ZAl XA (
OIRH) 860R <14l 1 0 1
—JBIAEEAA EZAY XIA(0IXH)
19,6403 %14 20 0 20
— O S ST o 0fl 2 AL
5,587,700 & *14] 5,588 0 5,588
—OFM =S TIoHOI 2 AL (01K
8,990& %14 9 0 9
— O SASES A
982, 180 * 14 983 0 983
— O SASE S A (01X
1,770& %14 2 0 2
—OtZCIotEHAIZE S AZMF & HA
Hxel 29,820 %14 30 0 0
—OtZe|ItEHAIZE S AMEMF & HA
el (OIXH) 11024 %14 1 0 1
—EAZOIEN 29
1,542, 4102 %14] 1,543 0 1,543
—EBAHQIER 2 (0IX)
71,5803 %14 72 0 72




A 2EES
M NHPES(BHESL)(BE/4otE - +3)
tel: 2dXE (Sl & J)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
UHENEAZLIERSY
2,004,000 %14 2,004 2,004
—ASXELEAENSH(0IX)
52,8402 %14 53 53
—ZdI0lE HMelXI&A
44,236,920 x14] 44,237 44,237
—Zdl0lE XMelXIR(0IXt)
2,847 5503 %14 2,848 2,848
—2HARI HIEILA M2 AL (EDIH S,
HZA) 49,225, 9403 x 14 49,226 49,226
— BRI BHEIA HS AL (ZI1HIA
M2FAFL) (OIXH) 186,270& x14] 187 187
—QIAZESTIILX XS ALY
1,745,400 14| 1,746 1,746
— QIS ESXI|IZRIRIZ AL (0IR})
2,080 %14 3 3
— I NHSI2AES I E XX A
1,713, 9003 *14] 1,714 1,714
— T SK2EE IS X XA (01X
) 4,303 *14] 5 5
—HEgEsSsdeds
2,424, 1503 14] 2,425 2,425
—Hegs+yea3 N (0IX)
5,303 *14] 6 6
—sZHHIE =AZ4S(0IR)
58,2003 14| 59 59
—3SToHY =S5 204, 1202 *14] 205 205
—3s4ory &S(0IN)
8,230& *14] 9 9
—HEESZ S AIEE XIS (01
10,4302+ 14! 1 "
—OINIZX SZEE SERAY
435,300 *14] 436 436
—0IM2X E=ZH 2RAIY (01X
68,7702 14| 69 69
—0IMBX AlSE EXIA
60,6603 14! 61 61
—OINIZXl AIS S XA (01X
28,1602 %14 ) 29
—SSAEA LA
520,000 *14] 520 520
—O012I0| SSI XL PGRIN &R & AL
2,100,000 *14] 2,100 2,100
— {201 S5 XHZH PG 2 K& AH (O RH)
7,650 *14] 8 8
— I ENSAELHESAIY
3,012,000& *14] 3,012 3,012
—IIEEMSAZSLAE S AL (0IR)
12,4302 %14 13 13




M SFESH
FH: NRES(SHHESH) (8Z/4otaxE - +=3)
thel: B8XE (CH9: &S1)
SA - BH - O9I(E) - NIRAY - BaS of e o o HDS2
02024 % 2,059 940 1,119
—OIM2X SYHE HES Al ANFAS
95,280 14! % 0 %
—O0INIgX SHHE OIS Al XA (
OIX}) 1,740 %14 2 0 2
—E23J 143 XN EsRA2
25,4202 1Al 26 0 26
—EEIREUEXESH X2 (0IR})
400314 1 0 1
—dRI MBEX 2x=E2xs & d5RA
el 988,560 * 14! 989 0 989
—dRX MBEX el=E2x3 45574
22[HI (Ol kt) 4,470 14] 5 5
o021 37,662 37,662
—OIMBIX SYHE oS Al AFAS
57,3502 %14 58 0 58
—OINISX SYBE HIZZAl XIZ2AE (
OIAH) 2,260 14! 3 0 3
—272 MHE LXAIE EXXE ALY
37,334,960 * 14 37,335 0 37,33%
—272 MEE LXAIE EXXE AFS(
OIRH) 265, 1302 %14 266 0 266




